Rate and Reactions Session 2

Transition State

Half-Life

True

Activation Energy

Slope

False

The amount of time it takes for % of
a reactant to be used up in a chemical
reaction

Temperature will affect the reactants
concentration in a reaction

Your rate constant is also the
of a graph

The organization of atoms at the
highest energy state

The rate constant doubles (approx.)
with every 10 degree Celsius rise

The minimum energy required for a
reaction to take place



. Write the second order integrated rate law:
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. Write the first order integrated rate law:

LR = Ader iRy,

. The reaction 2A —> B has a rate constant of 2.8 x 102 s™\. How long will it take for A to for
decrease from 0.96 M to 0.18 M? \’“\\5
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